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What is the 94th term of the following sequence ?
1,1,2,2,2,2,3,3,3,3,3,3,4,4,4,4,4,4,4,4,....

{A) 8 | 9

(Cy 10 m 11

Find the wrong term/element of the series given below, i.e., the term/element that does not

conform to the rule used in writing the series :
2.5 11,23, 47, 96, 191, 383

(A) 191 (B) 23
(C) 96 (D) 47
How many digits are there in 3" when it is expressed in the decimal form ?
(A) Three B)  Six
(C) Seven D) Eigh

4. IfMCA14 and MCA1S are five digit numbers such that their sum = 157229, then M +C+A
would be :
(A) 15 (B) 21
(C) 25 o 72
5 If the product of three consecutive positive integers is equal to their sum, then what would
be the sum of their squares 7
(A) 9 B) 14
(C) 16 D) 24
6. [fl-‘+é=lunr.ll';h%:l,thenwhmis?{}ﬁ?
(A) -l ® 2
(C) -2 (D) Cannot be calculated
:']". If 42— 26, 71— 78, 33— 16,then 62 —»
(A} OF (B) 34
(C) 38 (D) 39
i, Thedimensions of a floer are 18=24. What is the smallest number of identical square tiles
that will pave the entire lloor without the need to break any tile ?
(A) 6 (B 24
(C) 8 o 12
CHW-2008-4 3 [ Turm over



If R is on the right of L and L is on the left of K, then what can you say about the
following statements 7

X : Kis on the right of L.

Y : Kis on the right of R

(A) Only Xisvalid (B) OnlyYisvalid
(Cy Both X and Y are valid (D} Neither X nor Y is valid
110, A woman starts shopping with Rs. P and Q) Paise, spends Rs. 3.50 and is left with Rs. 2Q
and 2P Paise, The amount she started with is :
(A) Rs.48.24 (B) Rs. 28.64
(C) Rs.32.14 (D) Rs.23.42
11. The symmetric difference of sets A= {1,2,3,4,5,6, 7, 8} and B={1,3,5,6,7, 8,9} is :
(A) {1,3,5,6,7,8) B {2,4.9}
(C) {2,4) M {1,2,3,4,5,6,7,8,9}
12. LetM={(a,a,a):a €{l,2,3 4}, a+a+a=6} Then the number of elements in M is :
(A} 8 B) 9
© 10 ) 12
13. How many 5-digit telephone numbers can be constructed using the digits 0-9 if each
number starts with 67 and no digit appears more than once 7
(A) 60 (B) 120
(C) 248 (D) 336
14.  The number of words that can be formed by permuting the letters of ‘MATHEMATICS’
is:
(A) 5040 By 11!
)y #® (D) 4989600
15. The coefficient of x* in the expansion of (x +3)% is given by :
(A) 504 B) 1512
(C) 168 (D) 1008
16.  IfAand B are two arbitrary events and P(X) means probability of an event X, then :
(A)  P{ANB)=P(AYPB) (B) PlAUB)=P(A)+ P(B)
(C) P{AuB)sSP(A)+P(B) (D) P(AIB)=P(AnB)+ P(B)
CHW-2498-A 4



17. If E and F are events such that pE) =%,P{F} = ;“ﬂ P(F and F) = 11 then
|
Pi{not E and not F) equals :
7 T
@ < ® 3
A |
() 3 (13} n
18.  The probability that a ticketless traveller is caught during a trip is 0.1, If the traveller
makes 4 trips, the probability that he/she will be caught during at least one of the trips is :
(A)  1-(0.9) (B) {(1-0.9)
(C) 1-{1-09) (D) (0.9)
19.  The unit digit of 2" s :
(A) 2 (B) 4
{C) 6 o 8
20.  Thenumber 2¢" is:
{A) arational number (B) atranscendental number
(C)y  anirrational number (D)  animaginary number
21. The number of positive divisors of 300040 is ;
(A) 20 B} 30
(C)y 40 (D 50
22. With reference to the right-angled triangle shq.wn, what is the value of
sini A)cos(B) + cos{A)sin(B) 7
(N
[ | L
(A} -— (B) 1
(C) : (D 1
- 3 ¥
‘23. cos{4x) equals :
(A) 1-8sini(x)cosi{x) (B) 1 -8sin'(x)cos'(x)
(C) 32cos'(x)-18cos’(x)=1 (D} 1 -8 sin*{x) cos(x)
CHW-249%8.4 5
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24. If P = sin’x + cos'x, then for all real x :
3 13 3
(A) dﬂpﬂﬁ ®) SsPsi
13
(© [g=Psl D) 1sPs2
25, If f{x} is a real valued function such thai ;
2f{x) + 3f{—x)=135 — 4x for every x ¢ € %, then f{2} is :
(A) 15 (B) 22
(€ 11 Dy 15
x-6x4 5
26.  Ifxis real then the least value of the expression ————is :
X +2Ix+1
I |
(A} : By - 3
i ik o
) = @ -
27, L-il'l'l[l - l]’ equals
- nz
(A) 1 (L) :
(C) e* Dy e!
sinx i
38 Let [:® >R bedefined by fix)={ % x#0
| if x=0
Then
(A} fisnot continuous (B} [ iscontinuous but not differentiable
(C)  fisdifferentiable (D f is not bounded
19. What is the area of the triangle bounded by the linesy =2x, v =-2xand y =6 ?
[(A) 36 B) 1%
(cy 12 o 24
30, The value of P for which the points (P, <1), (2, 1) and (4, 5) are collinear, is :
(A) © B 1
(€y 2 (D) 3
CNW-2408-A &



31, A point on the x-axis, which is equidistant from the points (7, 6) and (3, 4) is given by :
(11 13
@ |3 (B) [3- "]
o [.0) 4 (.0
© [3° © |30
32.  Theangle between the x-axis and the line joining the points (3,~1) and (4, -2), is given by :
(A) 45° (B) 135°
(cy 225° Dy o0
33, What can you say about the following two statements 7
S, : The relation  defined by fix) = T is a Tunction,
i B . 3x , 3=xs10
S, : The relation g defined by g(x) = 2y BSs3 is a function.
' 3t x , 2€x<10
(A) OnlyS istrue (B) OnlyS, istrue
(C) Both§, and 5, are true (D) Neither § nor S, is true
4. Three vertices of a parallelogram ABCD are A(3, -1, 2), B{1, 2, 4) and Ci{-1, 1,2}, Find
the coordinates of the fourth vertex.
(A) (2,-2.8) B) (-2,1,8)
(Cy (1,-2,-8) m (1,-2,8)
35, The mid-point of the arc of a semicircle is connected by two straight lines to the ends of
the diameter as shown. What is the ratio of the shaded area to the area of the triangle ?
i I T l
I |
(C) =-% (D) In- 7
o | B
f’!ﬁ. A function g : R — % issuch that g(0) =0 and di:fﬂ < 8 for all x. We can conclude that g(1)
X
isin:
(A) (3,0) B [-3.5]
(C) (-w=, -5huls =) D [-4.4]
THWLAGE-A 7 [ Turm owver
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37, Accircle drawn in the x-y coordinate plane passes through the origin and has chords of
lengths 8 units and 7 units on the x and y axes, respectively. The coordinates of its centre

e 3
(A) (8,7 B) (-87)
(C) (-4,3.5) D) (4.3.3)

38, lIn the figure given below, the areas of the inner circle and the shaded ring are equal.
The radii r and r,are related by :

Ky

(A} r=r, B) f=r+2
K} gs= r;,-.,'E (M r=2r
39 Ifsquare matrix A is skew-symmetric matrix, then A", the transpose of A, is equal to :
{A) Diagonal matrix B) A
(C) Zero matrix Dy A

40. If Ais an invertible matrix whose inverse is the matrix [: ::| , then A is the matrix :

_ 6 -4 I3 4|
(A) [-5 3 ] (B) [5 1,!5J|
-3 =2 /3 1/4]
1 ﬂ}
I 4
41. Let M= | : ; ; . Then the rank of M is equal to :
L 10 1]
(A) 3 B) 4
<y 2 o 1
LW 249E-A g
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42.  If w(# 1)is a cube root of unity, and (1 + w)"=A+ Bw. Then (A, B) equals :
(Ay (1.1) B (L0
,+Z,+1
43 Wz =2-i,z=1+i,andi= V=1, then ;:TI equals :
Ay 2 By 3
€y 2 m 3
44.  The multiplicative inverse of the complex number 4 - 3i, wherei= V-1, is:
4 3. 4 3.
il R ® 2573
4 3. 4 3.
(C) s (I - i
45, The variance for the data : 6, 7,10, 12,13, 4, 8and 12 is :
(A) 9 (B) 9.25
C) 8 (D) B8.25
46.  Inanarithmetic progression, the first term is 2 and the sum of the first five terms is
one-fourth of the next five terms, then 20™ term is equal to :
(A) -25 (B) 23
) 112 1
47. The 5, 8", and 11th terms of a geometric progression are P, ) and R respectively.
Then:
(A) Q*=PR (B) R:=PQ
P+R
{C) FE=QR D Q==
45 The sum to ‘n’ terms of the series + : + : + : + sraners is:
a 5 1x2 2x3 3Ixd dx5
| ' ® —
i (4) 2 n+l
I
f il
(©) n+2 @ n+l
CHW-2408-A g
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19, fsin X—Ccos'x

SII'I :I.ED! X
tan(x) + cot{x)+ C
~tan(x) + cot{x) + C

(A)
(C)

(B)

(D)

——————dx is equal to : (where C is a constant of integration) :

tan(x) + cosec(x) + C
tan(x) + sec(x) + C

50, Which of the following differential equations has y = C " + C,e™" as the general solution ?

(C,and C,are constanis)
dly
—Z- -=E|
LA dx '
« My
&) i

(B)

()

2
:—I-jl-r—vru
i
:f—1=u
x

sl Find out the correct meaning of the idiomatic expression : 'To cry wolf' among the given

options :
(A) Togive false alarm
{C) Toturn pale

52, Select the correct verb :

Besides his parents, he

(A) B
(C) has

53. Identify the correct preposition :

The thunder was accompanied

(A) from
(Cy up

54,  Give one word substitute :
A well experienced person,
(A)  Wiseman
(C) Oldman

55, Fill im the blank with suitabhle word :

Barking dogs bite.

(A)  regularly
(C) seldom

CHW-2498-A

(B)
(D)

(B)

To run away from work without permission
To listen eagerly

also present at the function.

WS

(D) has been

a heavy rain.

(B) by
(D) through

®)
D)

(B)
(D)

10

Inietligent
Veleran

rarely
frequently

(¥)



56.  Identify the indirect speech for the sentence :
The teacher said to me, "Be regular and learn your lesson daily"'.
(A)  The teacher told me that to be regular and leamn my lesson daily.
(B)  The teacher said to me regular and leam iy lesson daily.
(C) Theteacher advised me to be regular and learn my lesson daily.
(D) The teacher request me to be regular and learn my lesson daily.

57.  ldentify the synonym of the given word :

Lest
{(A) Pleasure (B} Distaste
(C) Flop (1) Encircles
58. Fill in the blank with suitable conjunction :
He will neverpass _ hard he may try.
(A) However (B) Whatever
(C) Never (D) Whenever

59.  Fillin the blanks with the most appropriate word :

Stating that the ATM operations are ______ losses, the nation's largest bank, the
State Bank plans to the management of some of its ATM's.

{A) generating, resource (B) generating, close

(C)  incumng, outsource (I} reporting, tighten

60.  ldentify the antonym of the given word : /

Embellish

(A) Sacrifice (B) Disfigure

(C) Forfeit (D) Indict

6l.  Ifa magnetic disc has 100 cylinders, each containing 10 tracks of 10 sectors, and each
sector can contain 128 bytes, what is the maximum capacity of the disk in bytes 7

(A) 128,000 (B) 12,800,000
(Cy 12,800 (Dy 1,280,000
2. What characteristic of RAM memory makes it not suitable for permanent storage
I (A) tooslow (B) umreliable
(£} uisvolanle (D) too bulky
WW-2498-4 11 [ Turn over



03, The binary representation of 15 is :
(A) 01010 (By 01111
(C) 10011 (D} 00101
4. Cache memory refers to :
iA) cheap memory that can be plugged into the mother board to expand main memory
(B) fast memory présent on the processor chip that is used to store recently accessed data
(C) areserved portion of main memory used to save important data
(D) aspecial area of memory on the chip that is used to save frequently used constants
65, Which of the following programming languages has an instruction set closest to the
closest to the machine language of a computer ?
(A)  BASIC Programming Language (B) Fortran Programming Language
(C)  Assembly Language (D)  C++ Programming Language
. The Kind of interface with icons and menu bars for user to point at with mouse instead of
entering commands for operating svstem to perform certain tasks is called :
(A) GUI (B) Command line interface
(C)  User friendly programming (D) ASCI
67. A is a web site like any other, but it is intended to offer personal opinions of people
on their hobbies, interests, commentaries, photo, etc.
(A) Prolocol (B) Blog
{C)  Webpage (D} Joumals
0. is distributed computing over a network, and invelves a large number of computers
connected via real-time communication network such as the Internet.
{A)  Cloud Computing (B) ThinClient Computing
(C)  Fat Client Computing (D Dumb terminal Computing
oy, protocol defines how messages are formatted and transmitted, and what actions
Web servers and browsers should take in response to various commands.
(A) FTP (B) TCP/P
{C) HTIP I SMTP
0.  The process of copying files to a CD-ROM is known as ;
(A) Buming (B) Zipping
(C) Digiizing (D) Ripping
CHW-2298-4A 12



71.  Microsoft intreduced the taskbar in Windows 95 in 1995 and the feature has been a
defining aspect of Microsoft Windows and many other operating systems and desktop
environments since. Task bar in Windows can be placed at
(A) Bottom edge of your screen only
(B) Top edge of your screen only
(C) Bottom edge or Top edge of your screen only
(D)  Any edge of your screen

For the next TWO guestions, consider the following worksheet :
A B C D
| | No.| Test 1| Test2 | Total
2 1 80 60 | 140
3 . T0 20 120
4 3 40 30 T0
5 4 30 32 62
6 5 85 85 ] 170
7 6 65 B0 | 145
8 7 72 06 | 168
9 8 25 32 57
6] 9 a0 T8 | 168
1| 10 25 40 | 65
i} - = i v )
T2, The formula = IF (B10 + C10 > 100, IF (D10 > 100, A", "B"), "C") in cell D12 will
resultin :
(A) A (B) B
(C) C (D) AC

73, The formula =SUMIF(B2:B11, "<50", D2:D11) in cell D13 will result in :
(A) 120 (B) 254
(C) Dy 244

+74.  The acronym "DVD" stands for :
(A) Dynamic viewable disc (B} Decompressed video disk
(C) Digital versatile disc (1) Digital video drive
75, WAV file format is associated with what type of files ?
(A)  Video (B) Sound
(C) Image (D}  Word Document
ChW-24908-A 13 [ Turm over
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